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s Circle your discussion’s section number from the table below:

# | Discussion teacher | Time

1 | Duha Sharha S 11:00 - 11:50

2 | Leen Hethnawi S 13:00 - 13:50
3 | Khaled Altakhman R 09:00 - 09:50
4 | Hiba Sharha T 10:00 - 10:50

5 | Leen Hethnawi T 11:00 - 11:50
6 | Areej Awawhah T 11:00 - 11:50
7 | Duha Sharha S 12:00 - 12:50

8 | Duha Sharha S 09:00 - 09:50

9 | Hasan Yousef T 13:00 - 13:50

10 | Hiba Sharha S 14:00 - 14:50

11 | Hasan Yousef R 10:00 - 10:50
12 | Areej Awawhah T 12:00 - 12:50
13 | Areej Awawhah S 15:00 - 15:50

14 | Duha Sharha R 09:00 - 09:50
15 | Hiba Sharha S 10:00 - 10:50

16 | Leen Hethnawi S 12:00 - 12:50

17 | Duha Sharha R 13:00 - 13:50
18 | Duha Sharha R 14:00 - 14:50
19 | Areej Awawhah R 08:00 - 08:50
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Q1) [68 pts] Circle the most correct answer.

* (1) The slope of the curve z = cost,y =sint at t = 7 is
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(2) If z = cost,y = sint, then % att =% is

© —2\/5
(d) 7%

(3) The sum of the series 1 + & + & + 3 + - is

@e—l

(d) This series is divergent

(4) The Taylor polynomial of order 3 at a =1 of f(z) =z’ + 2z + 1 is
3—5(@z—-1)+2z~-1)>%-(z—-1)°

4+5(x—-1)+3z—1)2+{z-1)°
(©3+5(z—1)+(z~1)*+2(z - 1)°
(d)3+5(z—1)+3(z—1)2+(z—-1)°
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(5) The cartesian form of the parametric equations:

() (-2, %

(d) (2, %)

(7) The Maclaurin series of f(z) =+/1— 7z is
(@) T+ 2+2 4204

(b) 142~ 420 ...
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(8) The Maclaurin series of f(z) = 7%= is

(a) > (=1

n=0

(b\) i xn—l—l

n=1

& (]
© 3 2™
n=0

@ i !

n=0

T =2tant,y = 4sect is
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(9) The equation z? + (y — 2)* = 4 has the polar form
@) r = 4siné

(b) r = 4cosf

(c) r* = 4 cosf

(d) r* =4sinb

- 3 NS LAY .
(10) Thesumoftheseries%—(—23—[)—+£—25j.)——~(—2—)—+-~ is

o} |
(b) -1
(c) 0

(d) This series is divergent

(11) The Maclaurin series for f(z) = coshz is
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(14) The interval of convergence of the Maclaurin series of f (z) =e®cosz is
(a) (=3,%)

(b) (=1,1)

@ (—OO, OO)

(d) None of the above.

(15) The equivalent cartesian equation of 72 = 2rsin 8 is
(a) z? + (y+ 1) =1

(b) (& — 1) +42 =1

O+ =2

(@) (e —1)2+ (y—1)2 =1

(16) The parametric equation: z = Vi, y=1t-—1,0 <t <1 represents
(a) The part of the parabola y = z? — 1 in the second quadrant.

(b) The part of the parabola ¥ = z? — 1 in the third quadrant.

@ The part of the parabola y = 2% — 1 in the fourth quadrant.

(d) The part of the parabola y = z% — 1 in the first quadrant.

2 . . X
(17) For what values of z we can replace cosz by 1 — % with an error of magnitude less than or
equal 0.017

(a) o] <1

lz| < v/0.12
() lz| < V072
(d) |z < ¥/0.24
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(10 pts  euch)

Q2) [20 pts]

(a) Graph the set of points whose polar coordinates satisfy the following conditions:

0<#<fand-1<r<1
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(b) Replace the following polar equation by the équivalent cartesian equation and sketch

the graph
. 4
~ 2cosf —sind’
Ca — ¢
2y Ces 6 —goine =Y
2 X — 4 )

? 2 X =1
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Q3) [20 pts
(a) Find a parametrization of the line segment from the point (0,2) ending

with point (4,0)
(Oll) ~+ t(q / 'L)

. (X\\j\ -
(W> X =yt L elei)— T
,_(\ - 2 *Z‘t
(iptt) e 4 "
o , , 5SS ¢
other o whens are PoS
(b) Find the length of the curve: m=t3,y=3;2,O§t§2
- ’f‘“
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L= [ (@&«
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